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Note : Bcfore answering the questlons, read carefully the instructions given on the

OMR sheet.

eSS [‘{)ﬁ;pé) aspea0en Lp'oa’)ae.)é; gmot‘.i) OMR e a:(_éhnes" BidgdH rsden erldm

HSHod.

~ SECTION - A : MATHEMATICS (A3 -9

1 223 is
(1) Ratio__nal number
(3) Prime number

(1) esddan somg

(3) e dowg

~ (2) Irrational number
(4) Cbmpositc number

(2) soeboss somg
(4) Soatng Somg

2 If 4={P,0,LY,T,E,C,H,N,I} and B={E,X,A M}, then 4nB=

={P,0,L,Y,T,E,C,H,N,I} %8t B={E X, 4 M} w8, AnB=
3) {X} @ {7}

M {P} @ {E}
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3 Product of zeroes of polynomial 5x2 -1 is

5x% —1 B st Gnty, drarge owin

| 1 1 "
M 1 @ 3 ) @) 3

4 (x+a) is a factor of f(x), if
(x+a) e88 f(x) BwE sdwrosDdS

(1) fla)=0 2 f(-a) =.0 (3) f[-:;] =0 @) f(:alj =0

5 Among the non-terminating decimal is

L] ]

111
374’5

N =

oD Hopgeod® wodosd SF0F0

-] »

W | —
A=

»

L
2

W | —

1 1 1 1
M 3 @ 3 O @3

6 If ‘n’ is a prime number, then Jn is _

(1) Prime number . (2) Composite ﬁumber
(3) Rational number " (4) Irrational number
‘N BB a8 (57 Sopg wanB, Vn @86

(1) (S dowg (2) Sootny Howg

(3) w¥dsdan dowg _ (4) $6cdar domg

7 The HCF. of 7, 8 9 is
7, 8, 9 © K.0.5r.
1) 9 () 7 3) 1 4) 2
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8 If A={1,2,3,4,5} and B={4,5,6,7} then 4A-B=
A4={1,2,3,4,5} ®ootw B={4,5,6,7} w8, 4-B=
M {1,2,3} @) {3,4,5) 3) {567} @ {2,3,4]
9  The value of logg,s5 is
loggys5 By deod
: 2) - 3.5 @ =
3 @ iz + -
10 If the equation _3x2 +2x+ k=0 has real roots then £ is
3x2 +2x+k =0 &e0 TR dareren 50 ﬁ:&lﬁg k dend
1 1 : 1 : 1
- = <= k>—
1) k<3 () k>3 3) k 3 A9 3
11 The condition for ax”+bx+c=0 to be a quadratic. equation is
o’ +bx+c=0 28 58 88500 S ©JH Javdidn B ?
(1) a#0,a,b,ceR 2) a=0,6=0,c#0
(3) a=0,b¢0,c¢0 (4) a:.b:c:o
12 Find the 10" term of A.P. 5,1,-3,-7..... is
5,1,-3,—7..... ®08 (& B0¥ 10 % Hessw
(1) =31 2 31 3) 27 4) 35
_
13 If a,b,c are in GP. then -5=
| a
a,b,c e tH [BES® &) F, =
b o b s
m g @ 3 G) - O
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14 If the I2““:l term and 5t term of a G.P. are 24, 81 then the r =
e (BBS® 2% x50 oo 5 Ho 24, 81 wond, r =

| 3
(1) 16 ) 3 (3 20 . (_4) 2

15 If a,p are the zeroes of the quadratic polYnomial ax® +bx+c,a#0 then
a2 + Bz 22 s

a? +bx+c,a%0 oS DETVHD ToEy, Erargen a,p @owd o +'Bz= -----

) ‘;15(52 + 2ac) @ aiz(c2 + 2ab) ®) ;lz—(bz _ 2ac) @ :—2(02 " 2ab] |

16 If 5x+ py+8=0 and 10x+15J;+12=0 has no solution, then p=. .....
5x+ py+8=0 wooxn 10x+15y+12=0 o RESTOH J¢H B, p Jewd ...

15 13 T 5
—— — — 4 s—
(1) > @) 5 (3) 2 4) >
b)
17 Which term of GP. /3,3,3/3 .... is 729 ?
V3,3,33 ... 0ea(@8 &° @0, 729 Py Hesisn
(1) 10 (2) 12 3) 14 @ 16
18 The sum. of first ‘100’ natural numbers is
Bse3 < 100° Heres Domge oo _
(1) 2250 (2) 5100 . (3) 5000 (4) 5050

19 In the following equations, the line passing through (0, 0) is
(Bod 1S, (0, 0) roae B¢hehd) e |
(1) y=mx (2) y=mx-c (3) y=mx+c @) y=¢
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20 The solution of system. of _equations —2-+i =13 and i—i ==2 i ..
x- X . ® ¥
5 :
—%+i= 13 H»Boxn ——i= -2 od HREsere FES ...
X y - x )y
() oY el b
W23 @D\ B} \3*3 ® \3"2
.21 'The line x=7 is .....
(1) parallel to x—axis . (2) parallel to y—axis -
(3) passes through origin (4) passes through (0, 7)
x=7 o B ...... _
(1) x-oginsd Srosssy () g0 HEPoSEsN
(3) redokd) oo Fkod . 4) (0, 7) &3 DochH thome DY
22 If the roots of the quadratic equation px2 +gx+r=0, are equal, then q2 =
PX2+qr+r=0 55 sDE6mo By Hireren BrEHS, ¢ =
1) 2pr (2) 3pr Q) 4pr (@) 8pr
i3 7
23 The sum of roots of the quadratic equation 3x2 —6x+1=0 is
352 _6x31=0 H B EGP0 BEy, Hrere Todsn
(1) 2 @3:6 @3 - @3
24 If ax+b=0, then x= .....
ax+b=0 ®ond, x kI ...
' b b
1) - 2 = —
M-  @a @ “@ —
SPACE FOR ROUGH WORK / ¢ 98 Seronosads gobn
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25 Thetwo lines 2x+3y = 75 8x+12y 1 are ___ lines..

(1) perpendlcular (¥) parallel (3) intersecting . (4) none
' 2x+3y=7, 8x+12y=leBpew . - aw e
(1) sow (2) ross B)wods .. 4 o=

26 If three points (8, 1), (k,—4) and (2,—5) are collinear, then k==
(8, 1), (k —4) 6o (2,25) Dothigen Bhoiren @B, k=
(1) 14 i ._._(2)'.3. o (3),._2 U runs @Rl

: Aoy R B 2

27 Diswnce between the points (4 8) (5 2)

s

(4.-9), (5 2) é)odo@mé)cﬁs csrdxm AR B
R 0w ine @ o35 et BT e 0 @8l

28 .In' a trapezimﬁ ABC'D with' 4B|| DC and diagonals interaect edéh ‘other at the poih’"t
) If AB= 2@;‘[}, then the ratlo of areas of tnangles (8(0))] and AOB 1S &
L&:aoxao ABCD,@" AB||DC SBos a-aau»m udé;)do 02 aaaocs:@wmoaoa:s-om
AB= 2CD eacmé @e:basasne» COD #dass AOB O BPogine RS ... .

(1)2._ 2 (2)1 (3)1“ v e 4 1

et I
i £

P

‘f- O ( SuAL o .' 3 al")(. ; »
29 AABC~ADEF and their areas are respectively 81 cm2 and 225 cm?; if EF 5 em,
then BC = '
(@) 3cm (2) 9 em 3) 10 cm (42)5 cm
C ~ ADEF mom aaesamu»gm Sod 81 5302, DB 235 30,5,

S
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30 A circle with centre ‘O, ‘P’ is a point outside the circle and P4 and PB are two
tangents to the circle at the point of contacts ‘4’ and ‘B’ from ‘P’. If the length of
P4 = 10 cm, then the length of PB = '
(1) 5cm (2) 20em:, ' ' (3) 10 cm (4) 2.5 cm
‘O’ So|Ssurr Bo 5)Ed8 P’ oS Dot erirgins® o, ‘P’ Bothy hoa H)eeds ‘A’
Dot ‘B’ & 9)6) Dothipe $¢ Aavadd 3)5) Bpev PA ®0oxw PB. PA 4% =
10 2o.dv. wows, PB dH = .
(1) 5 0.D. (2) 20 %0.%. (3) 10 20.2. 4) 2.5 20..

31 A tangent AB at a point. ‘4’ of a circle of radius 7 cm meets a line through the centre
‘C’ at a point ‘B’ so that CB =.11 cm, then the length of 4B = .....

(1) V71 cm (2) 642 cm (3) 9 cm (4) 12 cm
7 20D, ogdo ad) Syed) AB 3)6y8w ‘A’ 35 &80, £)§ Sogo ‘C” ol 6789
D Ko Dot ‘B’ 5% &rdo CB = 11 o.d. wond, AB PdH = .....
(1) V71 0. (2) 642 20D, (3) 9 o 4) 12 %0.5.

32 The points of intersecti.on of the lines 2x+3y—5=0 and 3x—4y+1=0 lies in which
quadrant ? '

2x+3y-5=0 Sda 3x-4y+1=0 Bpeo podd Do) 2 Heos® dodkd ?
(1) I 2 1v (3) 1 ) @ I

33 In the given figure, PQI] BC.If AP=3 cm, BP=2 cmand CQ =3 cm, then 40 =
&1 |Bod 08" PQ|| BC. AP =3 %0.5., BP = 2 20.8.H8at CQ =3 0.0, wand, 4Q =

A

B C
(1) 4 cm (Do)  (2) 4.5 cm (0.D) (3) 3.5 cm (o) (4) 5 cm (0..)
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34

If the ratio of corresponding sides of two similar triangles is 4 : 9, then the ratio of
areas of these triangles is ....

Both B8 (Bebere LHEPD ghere A8 41 9 vand, & (Behare Jrergo WS ...
1y 16 = 81 ) 4:9 (3)2:3 4) J2:3

35 In the given figure, ZADE = Z/CBA, if AD=3.8 cm, A;E))z 3.6 cm, BE=2.1 cm and
BC =42 cm, then DE = ;;--)
&3 (800 d08°, LADE=ZCBA, AD=3.8 20.., AE<3.6 %0.2., BE=2.1 0.0.
0o BC =4.2 0.. oond, DE = Gh
I
A :
)
iy
D -
? | o
(Lo
B C o
(1) 2.8 cm (0..) (2) 2.1 cm (R0..) (3) 3 cm ('-';o%_f}\)).) (4) 3.8 cm (0.2.)
36 If the radius of a sphere is 3.5 cm, then the volume and total surface area of a sphere
, 22 Q '
are respectively ...... (use ©= 7) LOY
539 343 2 147
i R 2 2 ol L o
(1) 6 cm?; 77 cm (2) 2 c:rn(j252 cm
539 . 539 O
3) 5 cm3; 49 cm? | G cm?3; 154 cm?
28 F*¥o Gugy Tggo 3.5 0.0, w8, Ao Bgy WBErH0 HBAK VoLPsSe
) %
22 ot
Bwergen HHIT ... (T =T e S HN) L0
Q
ST M3 Lo, 147
(1) 5 .20.8.; 77 %.%0.2. (2) 2 é)c;gh), —2— $.300.8.
539 539 ©2
(3) = .720.2.; 49 %.20.. 4 3 .20.00.; 154 $.320.2.
SPACE FOR ROUGH WORK / g 508 Serchoseas geiss
-
.\5;]
Q
POLYCET-2023—B | 8

[ PT.O.

.
gcollegedunlaé
India’s largest Student Review Platform

-~



37 If the total surface arba’of the cube is 864 cm?, then its volume is .....

L)

(1) 144 cm’ @) 1728 cm? (3) 3174 cm? (4) 576 cm’
\O

B0 BN, HoRrsde BTego 864 $.70.0. @B, Grd D HOBPEIY ...

(1) 144 20D (2) 1728 w.2od.  (3) 3174 30D, (4) 576 H.%0.D.

o
38  The value of cos60° €os 30° —sin 60° sin 30° is
"2
O
cos 60° cos 30° —sin 60° sin 30° diogy Dews

o .
a 5 o L @ 0 @ 1

)
U
39 In the figure, if AP afid AQ are the two tangents to a circle with centre ‘O’ so that

L
Z0QP=15°, then 4?14}’: .....
) :
(808 Hersne® ‘O’ So|Bore Ko $)zd8, AP woaxw AQ ev Bok $)80pen BB

ZO0QP =15, wond LOAP= ...

k)
i)

™

(1) 15° (2) 60° (3) 30° (4) 450
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- 40 If the angle of sector is 30°, then the area of a sector of the circle with radius 7 ¢

SIS Lo, (use n=£2_) IR A . s’ . ; ' .
77 o g s o
BB S annlaaey o

530 G0t 53750 7 Do, oot 1> Bwo 30° wavd, T4 Brogs ...

22 :
- (m= - o SDE ).

D) = 30d. (2 % Sod.  (3) 1372- S0, - (4) % B.20..

41 1If a right circular cylinder has base radius 7 cm'and height 10 cm, then its volume
ISE (use ®=—-), I : | .I L_ | ;
(1) 154 cm? (2) 440 cm®  (3) 4400 cm®  (4) 1540 cm?

28 (5D Herss & i(wa'ao Q‘m&ia_e;bvga-do 7 'ho:b :»aomaa; 10 0., 59A &od, o

| 22
2% 5P ... (n o T émrmm)

(1) 154 ;g.-m.;b;. (2) 440 m?ao.'» (3) 4400 . m!‘o @) '_1546 0., 4

42 In any AABC, the value of Sln[A;B) jo A

bgau AABC &, sin[A+B] &né& :Jmé. S

‘:";(.,1) sin[% I ® c"s(g] : (3’ hs‘“(;‘tzisj :(.").‘\COS[AzB)

k%

angle between a tangent to a cn'cle and the radlus
g draWn at the pomt of

36 '&36;‘6»5) K'Dd,;aoc&a@ o fh'.)aﬁ arga)o-as ‘.’»qﬁs s‘m:m :
e o @ 430 (4)‘ 600

2% o4
e G N R e
B oo e T L PTLO,

~

% P R AR e ot MR AR SR AU
) Tl e e T U L e AN =3 ) <
i e R gcoilegeduma
- ‘,.,, Y Ty -"‘-_.l- e A India's largest Student Review Platform
{3 vy U s ALTE L wil e



44 If the ratio of base radii of right circular cylinder and cone is 2 : 3 and the ratio of
their heights is 3 : 4, then the ratio of their volumes is ..... :

(8 Hsrsed Prdo DB FoH) By gr TgIgre ¢S 2 1 3 Hdaxw e Jehe
8 3 1 4 eond, 6 w3 WErEre AP ... |
(11:1 @) 4:1 (3)9:8 4)1:3

45 Find the arca of the shaded region in figure, if ABCD is a square of side 14 cm, APD

and BPC are semicircles. (use 7= 7)’

14 cm

A

D
(1) 10.5 cm? 2) 21 cm? (3) 42 cm? d¢4) 154 cm?’

(800 Bt%08* ABCD $&3H shzo 14 0., APD HBoth BPC; of H)zren, oS
' : i FI LI

| 22
%8 Db (@08 Proghn EHFD®. (T="" ™ S0E i)

% 14 ’cooha

D
(1) 10.5";3.?56.5:. (2)-21 ::S."':oo.ﬁb. (3) 42 .%0.3. (4) 154 $.20..
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46  Empirical relation between Mean, Median and Mode is
(1) Mode + Median = 4 Median — 3 Mean
(2) Mode — Median = 2 (Median — Mean)
(3) Mode — Median = 2 (Median + Mean)
(4) Mode + Median = 4 Median + 3 Mean

- ew, Hesg K8 O wEHvEER G B g8 BooGER
(1) PSR + esg B8 = 4 g Ao — 3 Wit
(2) erdrowssny — desg s = 2 (Scg (s — i)
(3) eridrovdin — Sesg Keim = 2 (dg A + Wikw)
(4) ersovsan + Deg ddio = 4 Doy (S + 3 Bk

47 What is the median of 47, 52, 57, 62, 67, 72, 77, 78 ?
47, 52, 57, 62, 67, 72, 77, 78 o g i
1) 62 @) 67 "1 1 TN 645 () 99:>
48 The angle of elevation of top of the chﬁ' from a pomt 300 m from its foot is 60°.
~ Then the height of the cliff is '
a8 Fod wdoth o § $08 300 h)exs &80 08 Fot D erso 60° aaess o i,
§od .)é:

(i) 30073 (2) 200ﬁ _ NE) 3;?9 @ 2\?_0

49 A person is flying a kite at a height of 30 m from the horizontal level. The length of
string from the kite to the person is 60 m. Assuming that here is no slack in the string,
B - the angle of elevation of kite to the horizontal level is

| a8 g8 88a Barodt Fan o8 30 Doy HeE® MmOk NS . D B0 84
8 Eroe Sheore égaoae @08, © 8 wod 8istso érs Bog). P& 60 . wowd,
& mOBe0 §8e Hrods s Do Sedn :
(1) 60° - : (2) 450 @) 309 ¢ . (4) 90°

events £ and E2 are mutually exclusive then E\NnE, L
k1 oﬁ)Ez e HENE rbeé Sospéden eand, E; H'Ez -
B ()1 G e @) 0.5

'E FOR ROUGH WORK '/ D B8 Seranoswds Bewn
r ) 4 F gy 3 A i
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Find the missing value of “p” from the following table when Arithmetic Mean is 3.55.

51
|Bob Sgrodo ¥y ©of dggo 3.55 wowy, “p” Sy, dewd
X|112|3]|4|5]|6
F|8|9|p|16|9]|8
(1) 10 (2) 9 3) 16 4) 8
52 If no value of an ungrouped data is repeated, then which of the following cannot be
determined ? _
(1) Median . ) Mean (3) Mode (4) None
28 038 dwo-ﬁoé"a Denden Hsordyso S, i (808 IS* B L TB.
(1) Dgg &0 (2) e (3) eriroedin (4) 28 =co
53 The price of the fifteen shares in rupees are as follows :
46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25.
What is the Mode of the price ?
e R @) GBen Eraraved® & (8od Aorr GTm)aw.
46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25.
w08, © 8o BE) WIS Jod ? ;
(1) 59 (2) 73 " (3) 25 @ 11
54 If sece—i theﬁ cos0 =
\/5 ’
sec© - %, cosB="
=—F 8OV, =
V3 _
J3 2
.ol —= 3) —= —
w5 @ 7 o 5 @ 5
55 The value of el ~ s
sin 30° +cos 60"
cot 45 63.»53. S
sin 30° + cos 60° , ,
(1) 2 . (2) -2 3) 1 4 -1
SPACE FOR ROUGH WORK / 9 508 Seronoseds gomn
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Cs6 1t P(4) =2 then P(7)-

P(A);% wons, P(4)=
el Ti- ot B el L
(1) E 3 ) E- . ke (3) TE - “4) 13

57 A box contains 7 red marbles and 9 green marbles. If a marble. is drawn at random
" from the box, then the probability of not getting a red marble is-

28 DS 7 Xy Bden BBt 9 B8y HPen o, DB wod oxrdaa,)som 28 £°92 B2,
b o)d){:) B0 590 et o Bogrigs

- LU T 9
-— - — 4) —
& 16 _ (2)_- 16 ®)ite Y
5 58 The value of tan26°-tan6;lé is
] m26° 'tan64° 611)53_ m& . ] L = 32
: (1) -1 . B ()= 5K (3) 2 - (4)=2

fl‘he angle of elevation of .the top of the tower, whose height is 15 mts ata pomt whose
_' ce from the base of the tower is 15 mts is - b

iIE

SATRE Fus RE 155, Bh

o

l- '_ -
L ianiXs B i 2

_ e
-‘-.’ES_--‘?_’C??““’. ©) Sﬁ°°+°°s9 ) sm8+tan0

e e .

~ [PTO-
collegedunla
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SECTION - B.: P}tyslcs 05w |

61 Convex lens is used in the microscope due to the following reason
(1) It gives diminished image
(2) It gives magnified virtual image on same 31de of the object
(3) Real image behind the screen
(4) It gives magnified real image on opposntc snde of the lens

DS & efooa?s-d sosdy dca’:&rnoﬁ;a_&: 690
(1) 2%y3% 300w ok 2

(2) ".chBES Ibqvg (©8802rd) HY aélﬁoa béatbmm
(3) 86T e [H8Dowo DY

(4) 3% Des (3Bowo S8 15888 BFS* ASYHHH

62 Air bubble in water behaves likea

(1) Converging lens sk o ) '(2)" Piano convex lens-
~ (3) Diverging lens S Tty (4) None
o ‘Wéoﬁmaw&dééwow&émoa '
(1) Bobese swgaw i (2) S8 HogrsE KOS
(3) TBoldsdem Seosin | (A 28>

| '63 The mirror used by dentist is :
(1) Plane mirror ~ (2) Concave mirror
e (3) Convex mirror - (4 None

(2) {l)drwd d&amé»
@ .‘a_a e

(2) 8 cm (3) 24 cm - (4) 32cm A

(g_)_ “:3, ?m.!_xg b (3) 24 %00.2. (4) 32 0. !»

UGHWORK/ D& 308 Seravosads godn

LRT.Q.
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65 If the refracted rays from a convex lens are travellmg parallel to the principal axis, they,

age dlstance is

Equal to object distance
@) Infinity
@) quia] to radius of curvature of the lens -

Equal to focal length of the lens _ R
Hogrs S S0 o Hestto Boas Bren Berergrd8 Sirodsont (HoXreknos, $88o
by | ' o
@ %0 SroedB Girdsn

O
@ ©H0SB0

%’3_ SAERVEL angavgvbg DA HA
(4) ses TYLOSTI8 HhrSdn
66 What is the focal length of double concave lens kept in air with two spherical surfaces
' \Oradii Ry =20 cm and R, = 40 cm. Take refractive index of lens s = 5/3.
@) 20ecm  (2) 20 cm ()40 com . el |
a5 thm80 1 = 5/3 Ko a8 OIS E080 DS’ AosuBIB. SbSo GwE) Dot
Hge a»ga»oue.n R =20 0.0, $8ak0 R, =

40 200.2. ®ond, éeaé-atgigoédo o 7

Q 20 o, " (2) 20 20 (3) 40 Do, (4')‘ '_'L.i'o 250.5.
0
ﬁthe magmﬁcatlon of the mirror is greater than 1, then the mlrror is

- ¥ Concave mirror (2) Convex mirror

Plane mirror ) : (4) None

(2) EJOQJ“S'CS S8 e
“) _ba s=c&>

[ P.T.O.
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68 = A virtual image is formed by a concave mirror whemythe object is placéd
(1) Between the pole (P) and F * (2) Betwiéen F and C
(3) At centre of curvature 4) Beyo@ (% 3
Derses 56590 60D K Ay, Darg @aé)omoé?;)waoé a’w@:&: dossebd Fo
(1) sy ¢ydo (P) 6ot F o dnesg (2) F, Cloxvgg '

(3) Hge oo (C) 6 (@) C s esde
69 The lens which always give a diminished and virtualimage is

(1) Convex lens ) Concgse lens

(3) Plano convex lens (4) Concave mirror

By m;g:{amg ©8Bowo ahyy K8 )

(1) ®ogrss S8 2) @m‘%’ E&¥sm

(3) Shde Hogrss Sein (4) ersed S6yman

L)

70 Which molecules are responsible for the blue coloarof the sky ?
o500 D9 BorHS® EoSaEI8 a6t O @m@eg%'dmén ?

R .."3'11)_‘.02a Nz , (2) COy Ny (3) N,, Hey (4) Ny, Cl

(2) Iris and pupil
4) None '

@) :mm@ So3D

- @ ey | e

v relation between 'potentialcaﬁerence (¥) and current (/) is

- 1
b
—
WORK / 0 #08 Btronosads goms
LA
)

[PTO. -
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73 If area of cross section of a wire increases, while temperature and length are constant,

then resistance of the wire

(1) decreases 5= Lo ) depends on material
(3) increases (4) none
SRS Boare Fa Pore adyiyh wesgBYS Bra"e)go 2008, 84 By e
(1) Sepebson et (2) dwgoD weresd dotwod
(3) Hevos “) b&écb
74 Least distance of distinct vision is
(1)s25:m¢ =533 (2) 25 mm (3) 25 cm ~(4) 25 km
D)H Sy 8 St : =y
1) 25> 25 .. (3) 25 0.t (4) 25 8.2
7S When whlte hght is mmdent on a glass prism, the least deviated colour is
(1) violet - ~ (2) orange (3) red (4) yellow
e H8o ﬁhcs 803 s*08 aesmmym S dSodo BoBd 5708 Sorh
(1) & e (2) w00 3) Xy (4) 559

76 Which of the foll_bwing’ eye defect is age related ?

(1) Myopia (2) Hypennetropla (3) Colour blindness(4) Presbyopla
s 808 e3S° éo.'b:(nga‘ 5B S B0 96 ?
=M (&g cse)g; _ (2) 5.9; SR (3) Sorogssenm (4) Ssrgssn

77 Sensation of vision in the retina is carried to the brain by

- (1) comnea - . (2) ciliary muscle - (3) optic nerve - (4) None
5708 doSered B 08 WEHH BEFhD
) 8,5:9',5. R (2) 208 Sotoren () s en (4)' S

 (2) weber (3) oersterd (4) gauss
' "-ama»:m cinég. (500 ' Wt

(3) ©®aHcHE - (4) )

18 ol ~ [PTO.
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79 Choose correct option regarding magnétic lines of force
(1) Intersect near north-pole or south pole
(2) Intersect at the neutral point i
' (3) Never intersect each other
(4) Intersect at the midpoint of the magnet ;

©aHy08 E|é wo Bwe (00D WBHEA) JoHod.
(1)’ 688 B B8 ybo GBS Podoid Hotron
(2) e Dotk ¥4 wodoidd Koérow

(3) STISES Rpd podoHe’y

4) eaxsaog,oeso m;g Hothr) 58 POBOBHOETON

80 " Which of the following converts mechamcal energy into electrical energy ?

(1) Motor - (2) Battery - (3) Generator (4) Switch
L&o@ a»eses‘ o.ﬁwo@»é 489 5')63)55 asam Er5)0 26 ? -
i x| | | z
81 ’Whlch of the following pair of devices measure the same physu:al quantlty 7
: - Ammeter, Galvanometer (2) Ammeter, Voltmeter

Galvanometer, Voltmeter (4) Ammeter, Ohm meter
a’aaéuwé"" 99 &8 8K T3 Tenow ? VyFeI0N
05, mogSTDHes (2) wbyeh, SShes

c Sshes (4) ohyeb, 6265

(2) Current.
(4) Electrical resistance

(2) AbgB i
| (4) DB s

[PTO.
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83 ' Find the current (J) in the followmg circuit diagram
1808 96323536 Soan0s® g8 wariro (1) Dend o8 ?

5Q 10Q
AN
SRRk 30 _ |
(1) 54 () 44 a(3) 3A - 4) 24

84 Ina c:1rcu1t two or more re31stors are connected in parallel. Then the followmg quantity
is same for all the resistors 2
(1) Potential difference : - (2) Electric current.
(3) Resistance _ (4) Heat
28 Soavos® Boch B ©os¥od %75 :'085(;?@ ::?{:J“oédom Hogrloted Gar)on. edpd

- edy 36“@05) 800 2°8E 0°R 28 dSorr GoLod. '
(1) s)nagaraes s ‘ _ (2) debog8 l;m:rm

- (3) dwgd AWgsss @) &5 48

5 Algebraic sum of pOtentiaI differences in a closed _looﬁ is )
(1) one (2) equal (3) zero ~ (4) none
8 Bk Soanost PBINS Bare Head Bodin

e o O sy () 563

4 'length of the conductor which is moving with a speed of 5 m/s in a direction
dicular to the magnetic field of induction 2 tesla if it induces an emf of 10 v
the ends of the conductor.

_ @) 2m 3) 3m L b
308 VYT o\t SOAY FS 63% eowore 5 &/ ;%doa‘ Seoendi)
s 10 V aéagav‘)eaé 200 (38205088, ¢ 84 &Y

-;.f“(z_).._zha @3 @

[ PTO:
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87 According to ‘Right hand thumb rule’, if thumb of a right hand mdlcater: direction of
" current passing through a straight conductor, then curled fingers of the same hand

represent _ _
, (1) Direction of magnetic field (2) Resistance
* (3) Direction of induced emf -~ =~ (4) None of these
©8 38 5655 Bew oS B0 e.8 H BB 565 Bew Wrcorr 408 T Lod® Wbogh) BFD
DY 08 BB HADD B % Grdpaw.
(1) oIy 08 Fl& BF (2) dPesaw
(3) (3508 devogemyos woo BF @) s>y

88 The magnetic force on a current carrying wire placed in a uniform magnetic field if
the wire is oriented perpendicular to the magnetic field is -
a8 55 ©adp 08 §5d8 wowom &) AhHgS (o o SR ma% 2080

N L =l
MFBL @2 fe) i (e BL

| Electnc current carrying solenmd behaves like
) Bar magnet ; (2) Horse shoe magnet
. ' (4) Steel rod

(2) K\Bomes @aney 080
(4) sy €8

hich law ‘Induced emf generated in a closed loop is equa.l to the rate
netic ﬂux passing through it’ ?

- " (2) Lenz's law
4) Faradays law

(ﬁ) B0 daHdn
T (4) 6B JaHdrdn

5 wdRK / D 8 BeronosaBd Hoio |

[PTO.
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92

93

9

SECTION - C : CHEMISTRY (82008 @°&950)

Which of the following'molecules has a triple b,énd ?
88 1808 a0e3S® & @m{))-@moqal £9A &oénod ? SR
(1) O, () N, @y ey 4) Cl,

Which of the following is not an ionic compound ?

Bod 586" warrdy ) ¢so 5296 96 2 |

(1) Na,0 (2) MgCl, (3) BeCl, g3 (4__)' NaCl
The gas formed when Zn is treated with dil. HCI is

208 Seso HCL & 3563 282008t 61 TPo0R) —

gco; @) CL, @ EOTET Y SN

The' -molecu_lle m which the central atom has one Ione paji' of electr(;ﬁs' in its valence
~ shell is e

".:'»ng DEHre ) 5053 ggst S aotsn Dvg-"jsasgm _a:)‘l gm{,) i 8T

HNCH, Seshd [ 0s(2) BFg 1 .(3).]3‘5(312‘ b s :"7';(4)T‘5NH3 :

Plaster of Paris is :
Rt sLb ' ! RS TRR LR o TR
6 ud 0D ed _

CaSO42H,0  (2) CaSO;H,0  (3) CaSO;3H,0  (4) CaSO,

ond ‘angle in CH, molecule is RGN ek T ¥ o
B J (2) --1'09.0'281 | (3) 180° | .(:4531200 :

[PTO.

gcollegedunias
' ' India’s largest Student Review Platform

~



Y /s The compound formed in the followmg reactnon is

- .. 1700 \ 4 L
CH, - CH2 OH T 150, !

& (800 x‘.SdgeS‘ 5 et D6y 7

i iz S R 170s s bl
BT VR .
(1) CH;CHO .  (2) CH;~CH;  (3) CH;COOH (4) CH,=CH,

98 What is the prefix used for functional group aldehyde ?

('1) —al, 2) -ol _ - (3) formyl (4) hydroxy
©d3rh @am Bariroh ABEPACT Frog B
(1) w8 3 (2) &5 3) ¥56 @) Tty

4

99 Functlonal group present in carboxyhc amd is

8-5‘353&5 eaaﬁ)oeﬁ‘ &oﬁ Loo'é)o.ﬁ amra‘svm |
'__(1) - CHO ‘_'_; (2) - COOH ®)-C0- (4 -COOR.

_‘100 The gas llbcrated when metalhc sodium reacts w1th ethanol

oms‘a & es‘:s» FFdaso tscsg aanm;pm BenSA TP |
(1) 02 ) Hy (3) CO, @ co

| Ge eral __formul_a of alkynes |

_ ,an i (3) Caloner -~ 4) CiHpno

3) C2H6, CH, (&) CH,, CdHg

[ PT.O.

.
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103 How many molecules of hydrogen are present in 10'g b hydrogen ?
(1) 6.02 x 1023 molecules (2) 3.0£% 1023 molecules
(3) 6.02 x 1024 molecules (4 3.01%102* molecules
10 o 3@ TS ), 3r (&S vewHen Bodbh ?
(1) 6.02 x 1023 eengyen e -2 3, 01< 1023 wHD
(3) 6.02 x 102* empen (4) 3.01 x 10%* oHen

104 Identify the correct ascending order of energies of wrbitals.
©0)ere) ¥8 6B (K08° BO@D d) HBo$0B. L)

(1) 3S<3p<3d<4s (2) 3s «@s < 3p < 3d
®3) 35 <3p <4s<3d 0  (4) 35 €3d <3p<4s
_ - :

105 The total number of inner transition elements in the modern periodic table is
S5 GHSD BIES*D Ao w0y oaaéd:) Hresre & ooa:-%
(1) 10 | Byaas . - (3) 28 (4) 32

.|106 - What is the molar ratic of hydrogen and oxjfgen f'ﬂthe formation of water ?
8 TS HBow easbaS BEgT0d A DB $8g6° Hﬁaﬁ Doy ¥8yz=Se Brs :o,ge
- 08? g o
flD%eL:: 2 (2)2: : @) ksl 4 2:3

; 107 Which of the following quantum numbers descnjibes the sﬁatial oriehtation of orbitals ?
- % 80d as-éﬂe‘)" 2 s°g0&0 HoRg, BOEPE) (FPTRRE mgi'g@‘:)l BenHrod ?

A - (M .. N ) ¢ | (3) Mgy 4) m,
N \0

iring of electrons in orbltals starts only when t@\avallable degenerate orbltals are
filled” is stated by

-
d’s R"_ﬂ_e _ =62 Pauh s Prmc1ple
au Principle ; : (4) Bohr’s theory

;..__w@lubo@#‘)aloé.?éa ae‘g,g?, :Des"’)S N0&S Shme esrEo (Coaioed
B VWD e | - O :
“ (2) B8 Javtms

'FOR ROUGH WORK / 02 598 Semonossuas goss
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09 The flux used in extraction of iron from haematite is

DB od 08T B So|fRrodiip ¢hErAoD (5570
(1) CaCO, (2) Sio, _ (3) P,0s (4) CaSiO;

110 Pyrblusife is a ore of
Berg 5 ) o By cpc@a:@‘? 3 '
(1) Mn @) M{’ (3) Hg 4) Zn

111 Amorphous allotrope of car\li%n 1955

(1) Buckminsterfullerene (2) Graphite

(3) Coal : < (4) Diamond
S6)S BnE) 0888 Errossmn
(1) =SS HdS (% @) S
(3) Iﬁ"r,,b _ - & 5 (4) Hlesw
112 Nature of non-metal oxides§% generally
(1) acidic () bag.:,_‘ijc 3) amph_ot_eriq (4) neutral

o6 ) ¥B)Ben Ferswone EOR Gotran.

1 '-esa’gg zqge,ra‘:);_ (2) g8 sgarard) () Bgigerard)  (4) &% SgarErd)

L 113 In the process of calcinatig the ore is heated in the
- (1) Presence of O, CD - _ (2) Presence of reducing agent
 (3) Absence of 0,  \D (4)" All the above
SS90 @ P8BS c:vé%}é» 38 Sam.
Sgos® (2) o303 Hwgos®
gﬁ;aré.né‘ d%om C(4) pdyow

£ the 'followiq?;is not formed when metal carbonate reacts with dilute

[0)) C@ou dioxide (3) Hydrogen (4) Water
hros® 3 2RSS S5 (800 T D51 96 ?
© s%.s datrByE  (3) ms‘as C ) S

;E_"H WORK / 2 208 éeq-moqm&:; SR
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-~ 115 Which one of the following molecules has higher bond angle?
1808 re3&° 7 5 20¢sSewo o v o Gl S '
(1) H,0 (2) NH, (3):CHg: . *". () BF3

116 The eleetronegatmty difference between the elements ‘A’ and ‘B’ is 3 then r.he bond
formed in AB molecule is

(1) Ionic bond (2) Covalent bond (3) Slgma bond- (4) Pl bond
‘A’ Hoaos ‘B’ &3 Both diroste g enves rger ey ¥es 3@ 3 408, AB vmHS® &)
(1) ©ardgwosin (2) Sharada wogin (3) irmy wotsin (4) Dooddny

e - 117 Which of the following represents the correct order of electronegativity among halogens ?
C |80d wisst e Qg HOGD w0BAHIERS) 88 €20 DB ?
(1) F>Br>Cl>1 i (2) F>Cl>Br>1
, (3) I1>Br>Cl>F By (4) Cl>F>Br>I

i 118 Elements possessmg atomic numbers 3, 11, 19, 37 belong to == block,
: 3, 11, 19, 37 drew Sopg Ko resten —%?‘5’5? Bohsrow.
o -0) i Sl d cy e

. The element dlscovered in the place of Eka—Alunumum is ;

(2) Gallium (3) Germanium | 4) 'Bor'on_‘_
wgmoobo Pt Lofnss hrogiy Al = B
(2) mdovo 3) Eﬁg:)oﬁo @) &os

(@) anally  (3) anonmetal - (4) a metalloid

(2) a;Lm Sirn () wSesn @) uge.'i"a'ran

o ieiin swho ) i RS [ PTO.
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SECTION - D : BIOLOGY (7°%9:)

121 What is the slurry mass of food that forms in the mouth due to chewing called ?

(1) Chyme ~ (2) Chyle (3) Bolus (4) Pellets
Showo $9 6 saxrsahy e Brbd g Jod ?
1ys» - () 38 © () B L (4) $Psen

© 122 The Ova (Gametes) prodiced by a woman contains how many types of sex

chromosomes ? _
| % Bodrd dered® (@odod®) N) Ssve Bond (EBrdven SR ?
1 2) 2 © ()3 @) 4

123 Which acid renders the acidic pH'in stomach for the activity of protein digesting

enzymes ?

Q w0 égvéoboééb pH® wipasndorr $70) (&8 o B JoBD WEgH
&5 hod ?

(1) HCl (2) H,SO, (3) HNO; - (4) HCO4

124 According to Mendel's first law _thé- monohybrid phenotypic ratio is
DoBS B Br(do [Bsedo ¥ Ho¥de Byds Erd A Jod ?

Hn3:1 () 4:1 <8y Lel ™ ) 12271
125 Which hormone helps for the long time storage of seeds ?
"~ (1) Auxins: (2) Abscisic acid (3) Ethylene (4) 'Gibberellins
D #80 Do Hopb o0 Jog oSEIS HFLHLH0B ? .
(1) @8)8yx o - (2) 0B eipin (3) 2608 (4) 8209

126 Men produce sperms from which age onwards ?
(1) 20-25 years  (2) 8-10 years ~  (3) 18-20 years  (4) 13-14 years
Hthived® O donk Dod HEE)B Fogo v ? |
(1) 20-25 %o. (2) 8-10 %o. (3) 18-20 %o. (4) 13-14 %o.

3
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127 Flowers having both the stamens and cérpels are called

(1) Asexual . (2) Conjugation  (3) Bisexual (4) Unisexual
80759 DB WoE Ho ToBoL ¥OA &) P Job ot ?
(1) ©8ons (2) %oarigo - (3) 8gdos 4) H8ors

128 Which of the following organisms:exhibit regeneration ?I

(1) .2 laﬂaria ' (2) Homo sapiens (3) Pavo cristatus (4) Naja naja
" & (808 S9od® Db HHGESIBD W ?
(1) $Roowr 2) e WanSy () >F BReS  (4) T TE

129 What is the process of joining two stems to grow as a single plant ?

(1) Layering (2) Grafting (3) Cutting (4) Conjugation
Both sromren 0% Fow &8 By DR AFe) Johd ?
(1) wotn E&pes  (2) woto Stoes  (3) Pessaw (4) Soatwrizn

130 Diabetes is related to this gland

(1) Pancreas “(2) Thyroid (3) Adrenal (4) Pitvitary
PR argH8 dowogo &) (508 | :
(1) $owo  (2) goowd (3) ©oBy8H0 (4) Sosrd

131 Dodder plant (Cuscuta) belongs 10 ——— famlly
(1) Malvaceae (2) Rutaceae (3) Rubiaceae 4) _ Convolvulaceae
worrds B Ty, (§67558) enowrd8 BoBIo. | |
(1) $r8g> (2) &rdd (3) ErBARY (4) Srgeng®

132 Energy currency of the cell is called

Ee00 BEY 8 565‘33 ___ eotrd. |
(1) ATP (2) AMP (3) NADP (4) ADP

SPACE FOR ROUGH WORK / & &8 Beranoswdd Join
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133

134

135

136

In Chloroplast chlorophyll is present in "
(1) Stroma (2) Outer membrane
(3) Thylakoids ' (4) Inner membrane

0B S° HETdS0 &° Gotnod. _
(1) P C(2) wrirg 8
(3) Posank) | (4) &0 6

Deficiency of vitamin leads to fertility disorders.
DS S0 Hoerd )8 g 8O

(1) A (2B (3D 4) E

In which year was Kolleru lake declared as a Bird Sanctuary |
D B0 st EB w5y 1§ Hosgs Soorr ESoSdo w0hod ?
(1) 1989 (2) 1999 (3) 1979 (4) 1969

IUCN (International 'Union" for Conservation of Nature) was founded in which year ?
TUCN (20&38)3%%6 oo $5 BouBShS & 56) @ &oa’)éadoé" 8 yB0d ?

- (1) 1948 (2) 1958 (3) 1968 (4) 1978

137

138

139

Women have which type of sex chromosomes ?
dneos® £0A aod Bons [t D ? , |
(1) XY 2) YY 3) XX - (4) XW

What is the name of Darwin's ship which he used for world voyage ?
(1) HMS Beagle (2) KVS Don (3) LML Vespa (4) Titanic
@BgS [0S g0 0T FEH SHAPAODD T W e ? '

(1) HMS 8pd (2) KVS@§  (3) LML 3r) (4) BerdS
Coal, Petroleum (oil) and Natural Gas belongs to which type of fuels ?
(1) Chemical fuels (2) Fossil fuels

(3) Sunlight ~ (4) Water _

&eh, DG Do DO Wre TP o 5578 TodS Bogrey ?

(1) SrandE moBren ' (2) Bera q0GTeD

(3) ®rdgseod s 4) ¥ |
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140

What are the inter connected food chains called ?°

(1) Food web (2) Food stock  (3) Food scarcity  (4) Food link
WS Fevdve ©J0FT), Dot ? _
(1) o6 erotisn  (2) v womdin (3) wifd 868 (4) w58 0k
141 In which chamber of the human heart the blood is low in oxygen ?
(1) Right atrium (2) Right ventricle
(3) Left atrium | (4) Right atrium and Right ventricle
A5 (H0BS™ 2 (566" dod BE0S" w8 S $KH dotwod ? BT
(1) ©a g8 - (2) & =0
(3) s 898 - (4) ©3 898 Ddaxn HA 260
142 The alkaloid used as a sedative is e ,
(1) Nimbin ~ (2) Quinine (3) Nicotine * (4) Scopolamine
a&:@ﬁaomn‘ GHArAOD vep erand — . :
(1) dodS . (@ &8s (3) &S (4) P>
143 Rubber is prepared from . plant.
(1) Hevea braziliensis ' (2) Jatropha
(3) Neem . (4) Mimosa
B2y — gy ©od doxrdy BavkErod.
(1) St BAOBANT “F 0 (2) z&t>
(3) I L (4) e
144 An Aphid pierces its proboscis into the to get plant juices.
(1) Xylem (2) Phloem sieve tubes -
(3) Cambium (4) Pith
) Ded W e D Toberds od oo &°8 F)Wod.
(1) oy . 2) @"a’;é Seoere0&td w@g}.a"v‘m
(3) daresg SeodP 4) -da‘:}g
SPACE FOR ROUGH WORK / & %08 Séranodads Podn
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145 A person has loss of control on emotions, which part of brain stop its function ?
(1) Cerebrum (2) Diencephalon (3) Mid brain (4) Cerebellum

T DR D ardio o 0BHD DOITY, 8 868 & erTBgTeP dabolde g6t yercd ?

(1) B0 (2) orgedo (3) SogDEd  (4) wid dgo
146 Excretory organs in Reptiles are ; : :
(1) Nephridia (2) Green glands  (3) Kidneys (4) Flame cells
BBH)Fe &% XD wdaTen e '
(1) 3ddase | (2) 568 fowes  (3) wrdomes  (4) wrgen Swre
147 Stethoscope was discovered by
(1) Linnaeus (2) Mendel (3) Rene Laennec (4) Maheswari
RSB0 EOFG) RS | ' T .
() &S (2) Dodd 3) WTHE  (4) D0
48 Lenticels are the réspifatory organs exists in part of plant.
(6)) Roots - (2) Stem (3) Leaves - (4) Flowers

i o Go@w W TE By o &) wsxag‘é Q:nbave»
() st () e . (4)
an'ts-respire with their e
ots:  (2) Tap root (3) Rhizoids. (4) Scales
____gxgwon. e
S (2) s9% () DrowB)y  (4) dedwer
lungsarecalled : 9 s
~ (2) Alveoli " (3) Bronchioles  (4) Air spaces
auvgwoz\‘» wobrdh. iy

soffwe  (3) wgwPses @) Hches
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